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5 | TVUNLEE2— (PAFILTI)) T )L 335 335
6 |T7ZULER2—bRaXl oF )L 0.010 0.0007 0.011
7 | TOUNER LIV — T F )L 59 0.14 59
8 |TIUILFRATF L 0.023 335 0.002 335
9 |[77Va=kJ)L 1.6 152 0.017 153
10 |[77ulb A 104 490 4,283 16 1,069 50 212 6,226
11 |7V R A 0.098 0.098
12 |[TEMLTER 0.68 479] 2,693 24,468 83 4,501 2,010 283 166 0.003 794 35,478
13 | 7kh=kJsL 102 24 126
14 |7ER T ERY
5 | 7eF77
16 |2, 2 —T7 ALY T Fu=r L 0.009 0.009
17 AN b—T=Pr
18 | 7=V 0.080 0.013 0.094
19 1—73/—9, 10— T % /v
20 |2—T3)xHK)—)L 490 38,651 38,906 78,046
21 |rayxy
22 |74 7 m=)L 429 92 521
23 [T —=T3)T=x/)—)L
24 |\ AR—T3I)Tx/)—)V
25 [ ART Vv 50 50
26 |3—T73I/—1—7m~
27 | A¥Ipmy
28 |77 ILa—)u
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57 |=FL P Va— L/ oF)Lo—F)L 1,274 0.33 1,275
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59 [mFLLUTI 0.038 0.002 0.040
60 |=FL U7 UEERR 0.76 25 73 98
61 |~ %7 75 75
62 |~ratr 5,133 5,133
63 [T 7 eIR 2,989 2,989
64 |Th7xr Ty IR 1,464 81 1,544
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1-2




fdh 216 PEHIERI - R S E W BRI O Pk H EHERHRR (20224 K8 B IR) [1. R R3EM 2 E Lo IR NHOTEYIY LI T ~23. PESEFE R BE Alfi R

RISV EE ERPEH & (kg/4, X A4 FEIFImg-TEQ/4E)
B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
(BE X ERED s T | s e | . . L ; - —fBE | PEEBE Az
= W'E 4 \ g | xn 5 s, [IEGEBETG | DevgA e | BIRAE | L= | 23D e FEERBE | PoE | fize w | AV | F AR | IKRER | TR i &t

w5 Thogr| B R BEA R e a | ovr | o | AEVE ) R TR B | T 0 e | oo | | mi | el | i
131 83—/ —2—AF )L —1—7aX
132 |2/ LN O DEE W) 31 0.028 0.13 202 1.6 235
133 ;’;gi{”j VRS EFNE=TNT 1,087 0.012 1,087
134 |HEfgE =/v 759 304 11 1,074
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152 [ 3,763 3,763
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166 |1, 2—>/un—4—=—fa~ B
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170 |[Thoary'—u 0.030 0.030
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182 B9 ¥ 7 288 288
183 [B'FYL—h 8,079 8,079
184 [P rm~_=)L 11,535 11,535
185 |HCFC—225 912 912
186 |HEfkAT L 67,089 92 67,182
187 [F T v 3,486 3,486
188 |IN, N—o7a~FL /L7
189 N, N—v7anFi i —2—~_)F7

S— L AT 2 TIR
190 |y rmau oIy 0.0004 0.0004
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202 | =P
203 |7 z= LT3 1.3 1.3
204 |7 =)L —F )L
205 |1, 3— VT VT T = 0.0002 0.001 0.001
206 | HIVIRA)LVT 7 50 50
207 3:_6”/ Amvx =T FN—4=T 21 16 28 0.10 65
208 |2, 44—V — 44— ¥)—TF)NTx/)—)L
209 |7 mEsaonAx 414 252 666
210 |2, 2—27a®E—2—7 )7 ®RTIR
211 |»~Nur—2402
212 | 77—} 4,516 4,516
213 IN, N—IAF LT ERTIR 279 1.1 280
214 |2, A= AF LT =V
215 |2, 6—AF LT =V
216 |IN, N—IAF L7 =V 0.006 0.006
217 | FATIT N
218 |[PAF LTIV 0.75 0.009 0.76
219 |AF LI AL T 4R
220 | AF IV FF IV S EED KRR
221 | _UT7FHNVT 764 764
222 | T )FAINT
223 IN, N=UAFILRTVINT IV
224 |\ NTHAT VTN T ENAR 10 15,174 183 15,367
225 |F) 7Ly 150 6.7 157
226 |1, 1=V AF)LERTV
227 [/XFa—} 2,135 2,135
998 3,3’ fyf%/vh‘7:z:/v—4, 4’ =

=4V T F—h
229 |FA T 7 F—FAF )L 9,248 9,248
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231 |A/NVk—R)
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245 |FAJRFE 0.0001 0.001 0.001
246 |FA T /)—)L
247 |E°Z U0k A
248 |\ HAT v 5,907 0.62 5,908
249 |7 EURA 531 531
250 | A/XHF AL 681 681
251 |7x==faFAo 8,129 162 8,291
252 | T F A 70 70
253 | a7 < J7RA
254 | A7 T~ TRA 170 170
255 | FHTOEY T =)L T—F )L 0.82 0.82
256 | T Wk 0.13 0.13
257 |7 H/)—)v 1,569 1,569
258 | NFHPAFL T T 1.8 117 2.2 121
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263 |[CFC—112

2.3,5, 6—Th7r7aa— /"5 —~_%
264 |7
265 |7 RTERaAF VKT XV
266 |77 /LRJ 117 117
267 |FATINT 237 237
268 |F 7L 13 3,860 3,873
269 |V 74—
270 |TL7HLIR 0.00004 0.0001 0.0002
271 [TV I HNRY ATF )L
272 |HiKEETEN (854 1R<, ) 4.0 24 71 20 220 339
273 | /)V<=)L—RT LT )Lba— L 0.21 33 0.0003 34
274 | H—xV—RTho T4 —L
275 |RT 2 IVRRER T NI 2 853 998 1.3 34,075 7,711 43,637
276 |ThTmFL L~ HI 1.4 8.2 9.6
277 |N=F L7 152 83 236
278 |[NJ=FL TR 4.1 28 32
279 |1, 1, 1—RM)rpooxx
280 |1, 1, 2—RN)rpoox k.
281 |NJZom—FL > 18,877 18 118 19,013
282 |~ anfEiz 0.85 6.6 7.5
283 |2,4, 6—hN)/ou—1, 3, 5—NT7Y
284 |CFC—113
285 |rvoot sy 52,512 52,512
286 |F)Z7me v 88 88
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 15,716 15,716
289 |1, 2, 3—RJroar o S
290 |F)rma~ B

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3, 5— T —2, 4, 6(1H, 3H,

5H) — k4>
292 |NJZF LTI
293 |FUZL Y 1,990 1,990
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 29,955 125 440 499 34,963 321 16 2,092 68,410
297 |1, 3, 5—RIAF LB 12,767 70 119 23,032 704 20,049 353 1,018 1,225 9.6 203 59,551
298 |NIL oAV T F—h 6.2 6.2
299 |fLATL 0.018 0.006 0.024
300 |brTy 209,555 5.5 1.7] 9,518 116,438 6,313 938| 440,442 4,741 6,027 13,476] 212 85 220 26] 807,998
301 [ML=o o7y
302 |F7HL 2,348 1,671] 0.029 859 350 24 5,252
303 |1, 5—FTXZL L IAN="AVT T F—h
304 |43 0.20 0.20
305 |#nbAw 6.7 2.8 93 53 367 523
306 | T ZUNEEAFTHATFL 0.10 0.10
307 | M e by va=0 A
308 |=v/ L 0.12 0.22 0.34
309 | =y U b EW 14 0.57) 1,025 42 104 1,186
310 | =k = kR
311 [FNbh—=haT=Y—)L
312 A Nb—=btaT=J
313 |=hZ Uk
314 |/NNT—=ppZup~ B
315 |[A/Nh—=hrMlL =z
316 |=ha B 0.29 0.29
317 |=hmAZ 0.067 0.067
318 | “HifkRE 0.60 0.031 0.63
319 | /v~ — /=)L )La—)
320 | /=T x/)—)L 0.053 0.21 0.27
321 (INFUUMMEEW 0.053 5.3 90 4.9 101
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327 |1, 2— bR (2— a7 z=)L)ERTI
328 [TTA 1.1 64 1.5 67
329 |ARYA— 3 A—} 1,369 1,369
EA(1—AF N —1—Tz=)LF L) =~
330 pytue 5.2 0.30 5.5
331 | RPHRA 138 138
332 |{MFE R OPZFOERILEY 0.00005 1.2/ 0.000003 6.1 16 23
333 [ERTFYv 1.4 1.4
334 |[A—vRuX 2 BEBATF IV
335 IN— (4—kFaXs 7xz=/L) 7Er73IF
336 |[BERm¥ /v 2.0 2.1 4.1
337 [A—t =)L —1—ra~Ft
338 |2—F =LY
339 IN—E =/l —2—t'malJR
340 [ 7x==/L
341 [TV
342 Y 0.63 0.13 0.77
343 [ hTa—v 0.001 0.001
344 | T =)V FFT T
345 |7 ==)LERTFV
346 |[2— 7=V T /)—)L 261 261
347 IN—7xz=/)L<L AR
348 |[Tx=L L UT I
349 |7x/)—)L 60 0.086 35 94
350 |~V AR 154 197 351
351 |1, 3—7 &> 274 572 13,544 132 1,189 2,088) 283| 225 18,307
352 |ZHNEE T YL
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354 | ZHRNEEY — )L~ — T F )L 20 680 700
355 | 7HILFEE A (2—F )L ~FI L) 351 19 370
356 |ZXIVEE LI —TF =3P 7.3 7.3
357 |7 a7 285 285
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259 //1/’\7/1:—7“%/1/—2, 3—xTARF 7
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360 |~ /3L 1,215 1,215
361 |2 mky ST F L 2,262 2,262
362 [T 7z TFa
363 [ AXPTTV 224 224
364 |7z EFTA—] 20 20
365 |BHA
366 |Z— ¥ —TF)L=tRa~LAFI R
367 [ANb—HH)—TF )N Tz /)—)L
368 [4—F—xV—TF)NTx/—)L 0.24 0.11 0.35
369 |7 Lk
370 [BUHZ N 40 40
371 |7 75K 10 10
N— (F—%)—TF)) —2—_ VS F7T
372 SV Z)VT 2T IR 1 1
473 2—H— ) =T F ) —5—AF )L T =
J—)
374 | 5o bIKFE R OE DK IEMEE 864 1,492 2,426 4,782
375 |2— 7T F—)L
376 |7 X u—)L 11,684 11,684
377 |7
378 | 7o R 1,610 1,610
379 |2— 7’ —1—F—/L
380 [\ —1211
381 |7 uE/apAZ 817 239 1,055
382 [Nz —1301
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385 |[2— T aETa
386 |FALATF L 688 688
387 |Fft7 =2 T HAX
388 | RANLT 7
389 ;iﬂLT SIVNIAFNT e =y h=rmY 20 1,907 167 2,094
390 [ NFHAFL U UTIV
391 |[~FPAFLL=UAVL T F—h 1.0 1.0
392 [~ —~FH 50,854 1,381 2,876 85,960 1,852 0.36 230 143,154
393 [ RNFZFTh—)L
394 | VU LK OZEDILEY 1.7 1.7
395 |[~ULASY T RREROD KRR 4.4 4.4
396 |PFOS
397 |y =RralR
398 [H kDL 0.007 0.007
399 [ XU X7 TR 0.003 157 5,830 79 604 256 71 0.00007 6,997
400 |~ P 3,235 1.0 5,296 468| 88,308 1,439 6,276 5,475| 283 237 638] 111,655
401 jk’t;f A= SBINIRARL, 28| 600004 0.000004
402 | A7 = F ok 1,464 1,464
403 |~ T2 0.004 0.002 0.006
404 [ ma7 e )—L
405 [1FHFILEW 149 371 42 12 3,030 3,604
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T VN EEDRBEN1203H15FTODL 8,731| 45,279 18 362,258 10,086 426,372
DR OZDREWIIED, )
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413 K7 Z 1 3.3 3.3
414 K<L AR 0.052 0.000003 0.052
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